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MEms | 2RI | Bon | £350 | mr |[FEERLesgen] L (WEEOE| S
A RIS T3 Py
SE—
Om 17.9 18.3 18.4 18.0 171 18.1 210 A29 17.6
2m 17.9 18.2 18.4 18.0 17.7 18.1 21.0 A29 18.5
5m 17.9 18.2 18.4 18.0 18.3 18.1 21.0 A29 185
10m 17.9 18.2 18.4 18.0 18.4 18.2 21.0 A28 —
B-1m 18.1 18.2 18.4 18.1 18.4 18.2 210 A28 18.5
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wEa | zmIs | Bow | #50 | mr [FEERRlesogsl|  TaEEeoZz| migEr
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Om 323 32.4 32.4 323 30.4 32.3 323 0.0 296
2m 323 32.4 32.4 32.3 315 32.3 32.3 0.0 32.0
5m 32.4 32.4 32.4 323 323 32.4 323 0.1 323
10m 32.4 32.4 32.4 32.3 32.4 32.4 32.3 0.1 —
B-1m 32.4 32.4 325 32.3 325 32.4 323 0.1 32.4
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oE—
Om 6.9 6.5 6.8 6.7 7.4 6.7 6.0 0.7 7.0
2m 6.8 6.5 6.7 6.7 7.3 6.7 5.9 0.8 6.8
5m 6.8 6.4 6.6 6.6 7.0 6.6 5.9 0.7 6.8
10m 6.7 6.4 6.6 6.4 6.9 6.5 5.8 0.7 —
B-1m 6.5 6.3 6.5 6.4 6.8 6.4] 5.7 0.7 6.8
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K= 17.0 247 14.8 18.9 13.5 98
[ EHRE 9.2 8.8 9.0 55 55 4.1
Bi[al(11/26 3.6 4.3 7.2 5.3 5.0 3.9
#£5 TS50 (cells/ml)
AL=7- | JUFRY |Dv(BT4 T
SXEN | BLTS | ZHLE | FF
Om 0 5 0 70
BERIA 2m 0 4 0 0
5m 0 9 0 0
Om 0 2 1 10
EDHE 2m 0 10 0 0
5m 0 4 1 100
Om 0 0 1 50
Vako2s) 2m 0 1 0 0
5m 0 2 0 10
T Om 0 0 2 60
’i’&pgjzﬁ"fiz 2m 0 4 0 50
5m 0 3 2 0
Om 0 0 0 100
Lkl 2m 0 0 0 70
5m 0 0 0 20




